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1. The principle used in rockets is  

A) Newton’s first law     B) Newton’s second law  

C) Newton’s third law    D) All the above  

«VÂØïâ½_ ÃB[Ã|D >ÝmkD ________. 

A) WRâ¦M[ x>_ s]   B) WRâ¦M[ Ö«õ¦VD s] 

C) WRâ¦M[ J[ÅVD s]   D) Öçk ¶çªÝmD 

2. When did Indian space research organization was started?  

A) 1959   B) 1960  C) 1969  D) 1972 

ÖÍ]B sõØk¹ gF¡ W®kªD ¨Í> gõ| Ø>V¦ºï©Ãâ¦m? 

A) 1959   B) 1960  C) 1969  D) 1972 

3. How much far light years Andromeda our nearest galaxy is situated? 

A) 1.5 million   B) 2.5 million  C) 1 million   D) 3.3 million  

å\Âz ¶òïVç\l_ c^á ¶õ½¼«V*¦V sõØk¹Ý ]«^ ¨Ý>çª Î¹BVõ|Ý Ø>Vçés_ 

¶ç\Ím^ám? 

A) 1.5 t_oB[  B) 2.5 t_oB[ C) 1 t_oB[ D) 3.3 t_oB[ 

4. Assertion: Milky-way is our galaxy  

Reason: It is called Milky Way because it appears as a milky band of light in the sky 

A) Assertion is true and reason is false  B) Assertion is false and reason is true 

C) Assertion and reason are true   D) Assertion and reason are false 

íu® : å\m sõ*[ ]«¹[ ØÃBì ÃV_Øk¹ T]. 

ïV«ðD : kVM_ Îò ÃV_kõð© Ãâç¦ ¼ÃV[® ï«ð©Ã|k>V_ ¶m ÃV_Øk¹ T] ¨[® ØÃBì ØÃuÅm. 

A) íu® Äö, ïV«ðD >k®   B) íu® >k®, ïV«ðD Äö 

C) íu® (\) ïV«ðD Äö    D) íu® (\) ïV«ðD >k® 

5. Match the following        a b c d 

a. Chandrayan I   - 1.  November 5, 2013   A) 3 2 4 1 

b. Mangalyaan   - 2. July 22, 2019    B) 3 1 2 4 

c. Chandrayan II   - 3. October 1, 1958    C) 4 2 1 3 

d. NASA   - 4. October 22, 2008    D) 4 1 2 3 

ØÃVòÝmï.        a b c d 

a. ÄÍ]«VB[ I  - 1. åkDÃì 5, 2013   A) 3 2 4 1 

b. \ºï^BV[  a 2. Éçé 22, 2019   B) 3 1 2 4 

c. ÄÍ]«VB[ II  a 3. ¶Â¼¦VÃì 1, 1958  C) 4 2 1 3 

d. åVÄV   a 4. ¶Â¼¦VÃì 22, 2008  D) 4 1 2 3 

¶õ¦D (7, 8, 9 a gD kz©A), sõØk¹ (7agD kz©A) ¼>ì¡ a 1 
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6. Which was the NASA first manned mission to go to the Moon? 

A) Apollo – 5   B) Apollo – 8  C) Apollo – 10 D) Apollo – 11 

åVÄVs[ ¨Í> ]â¦D x>[x>o_ \M>ìïçá Wé¡Âz ¶Ð©¸Bm? 

A) ¶©¼ÃV¼éV a 5 B) ¶©¼ÃV¼éV a 8 C) ¶©¼ÃV¼éV a 10 D) ¶©¼ÃV¼éV a 11 

7. Rocket man is called as  

A) Mayilsami Annadurai     B) Kailasam Vadivu Sivan  

C) Arunan Subbiah     D) A.P.J. Abdul Kalam  

«VÂØïâ \M>ì ¨[ÅçwÂï©Ã|Ãkì? 

A) \l_ÄVt ¶õðVmç«   B) çïéVÄD k½¡ Ek[ 

C) ¶òð[ ·©çÃBV    D) A.P.J. ¶©m_ ïéVD 

8. Choose the correct statement in the following  

1. Stars are filled by Helium gases  

2. Hot stars are white or blue in colour  

3. cooler stars are orange or red in colour 

A) 1 only true   B) 1, 2 is true   C) 2, 3 is true   D) All are true  

ÿµÂïõ¦ku®^ ÄöBVªç>Ý ¼>ìÍØ>|. 

1. sõ*[ï^ ¶çªÝmD êoBD kV¥kV_ W«D¸¥^áª. 

2. Øk©Ã\Vª sõ*[ï^ Økõç\BVï¼kV ¶_ém Àé\Vï¼kV ¼>V[®D. 

3. z¹«Vª sõ*[ï^ g«Þ· ¶_ém Ek©A WÅ\VïÝ ¼>V[®D. 

A) 1 \â|D Äö  B) 1, 2 Äö  C) 2, 3 Äö  D) ¶çªÝmD Äö 

9. Match the following (Kepler’s law)     a b c 

a. First law   - 1. Law of equal areas   A) 1 2 3 

b. Second law  - 2. Law of ellipse    B) 3 1 2 

c. Third law   - 3. Law of harmonies   C) 2 1 3 

         D) 1 3 2 

ØÃVòÝmï. (Øï©áö[ s]ï^)      a b c 

a. x>_ s]  a 1. Ä\Ã«©Aï¹[ s]  A) 1 2 3 

b. Ö«õ¦Vkm s] a 2. À^ kâ¦ºï¹[ s]  B) 3 1 2 

c. J[ÅVkm s]  a 3. ÎÝ]çÄ¡ï¹[ s]  C) 2 1 3 

         D) 1 3 2 

10. Choose the incorrect statement  

1. The time taken by a planet to complete one rotation is called its period of revolution  

2. The time taken by a planet to complete one revolution is called its period of rotation  

3. The period of revolution of the Earth is 23 hours and 56 minutes 

4. The period of rotation of the earth is 365.30 days  

A) 1, 2 is false   B) 3, 4 is false  C) 2, 3 is false  D) All are false  

ÿµÂïõ¦ku®^ >kÅVªç>Ý ¼>ìï. 

1. óöBçª Îò xçÅ ·u¤ kòk>uz ¼ïV^ï^ ¨|ÝmÂ ØïV^ÓD ïVéD ·wuEÂïVéD ¨ª©Ã|D. 

2. >[çªÝ>V¼ª Îò xçÅ ·w_k>uz Îò ¼ïV^ ¨|ÝmÂ ØïV^ÓD ïVéD ·u®ÂïVéD ¨ª©Ã|D. 

3. ¯tl[ ·u®Â ïVéD 23 \è 56 Wt¦ºï^. 

4. ¯tl[ ·wuEÂ ïVéD 365.30 åVâï^. 

A) 1, 2 >k®     B) 3, 4 >k®   

C) 2, 3 >k®     D) ¶çªÝmD >k® 
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11. Choose the correct statement  

1. Inner planets do not have any rings.  

2 In outer Planets Saturn only has rings  

3. The rings are actually tiny pieces of rock covered with ice.  

A) 1, 2 is true   B) 1, 3 is true   C) 2, 3 is true   D) All are true  

ÿµÂïõ¦ku®^ ÄöBVªç>Ý ¼>ìÍØ>|. 

1. câAÅÂ ¼ïV^ïÓÂz kçáBºï^ Ö_çé. 

2. Øk¹©AÅÂ ¼ïV^ï¹_ ÄMÂ ¼ïVÓÂz \â|D kçáBD c^áª. 

3. kçáBºï^ ¨[Ãm ÃMBV_ J¦©Ãâ¦ ÃVçÅÝmï^ïáV_ gªm. 

A) 1, 2 Äö   B) 1, 3 Äö  C) 2, 3 Äö  D) ¶çªÝmD Äö 

12. Match the following  

Planets   Satellites     a b c d 

a. Mars    - 1. Titan    A) 1 3 4 2 

b. Jupiter    - 2. Triton    B) 2 3 1 4 

c. Saturn    - 3. Phobos    C) 3 4 1 2 

d. Neptune   - 4. Ganymede   D) 4 1 3 2 

ØÃVòÝmï. 

¼ïV^ï^  mçðÂ¼ïV^ï^   a b c d 

a. ØÄËkVF  a 1. ç¦â¦[   A) 1 3 4 2 

b. sBVw[  a 2. ½ç«â¦[   B) 2 3 1 4 

c. ÄM   a 3. ¼ÃV¼ÃVü   C) 3 4 1 2 

d. Øå©½¥[  a 4. ïVM*|   D) 4 1 3 2 

13. Asteroids lies between the  

A) Between Mercury and Mars    B) Between Mars and Jupiter  

C) Between Jupiter and Saturn    D) Between earth and Mars  

E®¼ïV^ï^ ïVð©Ã|km? 

A) A>[ \u®D ØÄËkVFÂz Öç¦l_ B) ØÄËkVF \u®D sBVwÐÂz Öç¦l_ 

C) sBVw[ \u®D ÄMÂ¼ïVÓÂz Öç¦l_ D) ¯t \u®D ØÄËkVFÂz Öç¦l_ 

14. Choose the correct statements  

1. Halley’s Comet, which appears after nearly every 76 years.  

2. Halley comet was last seen in 1984. 

3. It will next be seen in 2060. 

A) 1, 2 is true   B) 1, 3 is true   C) 1 only true   D) 1, 2, 3 is true  

ÿµÂïõ¦ku®^ ÄöBVªç>Ý ¼>ìÍØ>|. 

1. ÇVo kV_sõ*[ 76 gõ|ïÓÂz ÎòxçÅ Ø>ö¥D. 

2. ïç¦EBVï ÇVo kV_sõ*[ 1984a_ ÃVìÂï©Ãâ¦m. 

3. Öm *õ|D 2060a_ Ø>ö¥D. 

A) 1, 2 Äö   B) 1, 3 Äö  C) 1 \â|D Äö D) 1, 2, 3 Äö 

15. Which of the following can be found by Galileo through telescope? 

1. Sunspots on the face of the Sun  2. Satellite of Jupiter 

3. Saturn rings     4. Small faint stars invisible to the eye 

A) 1, 3, 4 is true      B) 1, 2 is true   

C) 3, 4 is true      D) All are true  
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ïoo¼BV Ø>Vçé¼åVÂþl[ JéD ¨ç>Â ïõ¦¤Í>ªì? 

1. óöB[ xïÝ]_ óöB©A^¹ï^. 2. sBVwM[ mçðÂ¼ïV^ï^. 

3. ÄMÂ¼ïV¹[ sçáBD.  4. ïõbÂz© Aé©Ã¦V> E¤B \ºïéVª åâÄÝ]«ºï^. 

A) 1, 3, 4 Äö  B) 1, 2 Äö  C) 3, 4 Äö  D) ¶çªÝmD Äö 

16. Choose the correct statements  

1. Ursa Major is a large constellation. 

2. The most striking feature of this constellation is a group of seven bright stars known as big dipper. 

3. Ursa Minor in Latin means ‘the little bear’. 

A) 1 only true   B) 2 only true   C) 1, 2 is true   D) All are true  

ÄöBVªkuçÅÝ ¼>ìÍØ>|Âï¡D. 

1. cìÄV ¼\Ûì ¨[Ãm Îò ØÃöB sõ*[ \õ¦éD. 

2. ÖÍ> åâÄÝ]« \õ¦éÝ][ tï¡D z¤©¸¦Ý>Âï ¶DÄD °¿ ¸«ïVÄ\Vª åâÄÝ]«ºï¹[ 

ØÃöB zkçá ¨ª ¶çwÂï©Ã|D Îò z¿kVzD. 

3. cìÄV ç\ªì ¨[Ã>uz ÖéÝy[ Ø\Val_ E¤B ï«½ ¨ª© ØÃVò^. 

A) 1 \â|D Äö  B) 2 \â|D Äö C) 1, 2 Äö  D) ¶çªÝmD Äö 

17. In 1980, the first satellite to be placed in orbit by an Indian-made launch vehicle, SLV-3 was  

A) Rohini   B) Chandrayan I  C) Chandrayan II  D) Mangalyan  

1980a_ ÖÍ]BVs_ còkVÂï©Ãâ¦ SLV 3 ¨[ÐD °¡ïçð kVïªD J_ ·u®©ÃVç>l_ 

°k©Ãâ¦ x>_ mçðÂ¼ïV^? 

A) ¼«VNM  B) ÄÍ]«VB[ I C) ÄÍ]«VB[ II D) \ºï^BV[ 

18. the distance between Saturn and Uranus is much greater _____than the distance between the Earth and the  

Mars 

A) about 10 times   B) about 30 times  C) about 25 times  D) about 20 times  

ÄM ¼ïV¹uzD ¥¼«ªü ¼ïV¹uzD Öç¦¼B c^á Ø>Vçé¡ ¯tÂzD ØÄËkVF ¼ïV¹uzD 

Öç¦¼B c^á Ø>Vçéçk s¦ ________ \¦ºz ¶]ï\Vï c^ám? 

A) 10 \¦ºz  B) 30 \¦ºz  C) 25 \¦ºz  D) 20 \¦ºz 

19. A.P.J. Abdul Kalam acted as the Project Director of designed which missiles?  

1. Thrishul   2. Agni   3. Prthvi   4. Naag   5. Akash  

A) 1, 2, 3 is true   B) 1, 3, 5 is true  C) 1, 3, 4 is true  D) All the above 

ÖÍ]B «VbkÝ]_ c^á ¨Í> °¡ïçðïçá k½kç\Âï©Ãâ ¼ÃVm ¶>[ ÖBÂzå«Vï 

A.P.J. ¶©m_ïéVD ØÄB_Ãâ¦Vì? 

1. ]öó_   2. ¶ÂM  3. ¸òÝs  4. åVÂ   5. gïVi 

A) 1, 2, 3 Äö  B) 1, 3, 5 Äö  C) 1, 3, 4 Äö  D) ¶çªÝmD Äö 

20. Consider the following statements. 

1. The Moon is the only natural satellite of the earth. 

2. The moon is at a mean distance of about 3,84,400 km from the earth. 

3. The moon diameter is 3,474 km.  4. The moon has atmosphere of its own. 

5. The moon does have its own light. 

A) 1, 2, 4 is true  B) 1, 2, 3 is true C) 1, 2, 3, 4 is true D) All are true 

ÿµÂïõ¦ íu®ïçá g«VFï. 

1. ¯tl[ Î¼« mçðÂ¼ïV^ ÄÍ]«[. 2. ¯tloòÍm ÄÍ]«M[ Ø>Vçé¡ 3,84,400 þ.*. 

3. ÄÍ]«M[ sâ¦D 3,474 þ.*.   4. ÄÍ]«M[ k¹\õ¦éD cõ|. 

5. ÄÍ]«ÐÂz >V\Vï¼k Î¹òD guÅ_ cõ|. 

A) 1, 2, 4 Äö  B) 1, 2, 3 Äö  C) 1, 2, 3, 4 Äö D) ¶çªÝmD Äö 
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21. Match the following         a b c 

a. Gravitational Constant   - 1.  6371 Km    A) 1 2 3 

b. Mass of the earth   - 2. 6.673 × 10
–11

 Nm
2
 kg

-2  
B) 2 1 3 

c. Radius of the earth   - 3. 5.972 × 10
24

 kg   C) 3 1 2 

          D) 2 3 1 

ØÃVòÝmï.         a b c 

a. ~ì©¸B_ \V¤o  a 1. 6371 þ.*.    A) 1 2 3 

b. Asl[ WçÅ   a 2. 6.67 � 10
���

 W*
2
 þ.þ.

�2
. B) 2 1 3 

c. Asl[ g«D   a 3. 5.972 � 10
��

 þ.þ.  C) 3 1 2 

          D) 2 3 1 

22. Statement 1: Uranus is the eighth planet from the Sun and is the windiest planet 

Statement 2: Triton is the only moon in the solar system that moves in the opposite direction to the  

direction in which its planet spins. 

A) Statement 1, 2 is true     

B) Statement 1 is true and 2 is false 

C) Statement 1 is false and 2 is true   

D) Statement 1, 2 is false  

íu® 1 : óöBM_ ÖòÍm ¨â¦Vkm c^á ¼ïV^ ¥¼«ªü ÖÍ> ¼ïV^ tï¡D ïVu® 

TÄÂí½B ¼ïVáVzD. 

íu® 2 : óöB \õ¦éÝ]_ ¼ïV¹[ ·wuEÂz ¨]ì]çÄl_ ·u®D Î¼« Wé¡ ½ç«â¦[ gzD. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

23. Which of the following is incorrect about the objectives of Mangalyaan? 

A) To explore the surface of Mars. 

B) To study the constituents of the atmosphere mars. 

C) To develop the technology required for interplanetary mission. 

D) Identify the availability of Magnesium and Silicon. 

ÿµÂïõ¦ku¤_ \ºï_BV[ ]â¦Ý][ ¼åVÂïºï¹_ >kÅVªm ¨m? 

A) ØÄËkVl[ ¼\uÃ«©çÃ g«VF>_. 

B) ØÄËkVl[ k¹\õ¦éÝ]_ c^á Ãz]©ØÃVò^ïçá ¶¤>_. 

C) ¸Å ¼ïV^ïÓÂz sõïéD ¶Ð©AD sõØk¹Ý ]¦¦Ý]uzÝ ¼>çkBVª Ø>Va_ 

OâÃÝç> còkVÂz>_. 

D) \ÂÌEBD \u®D EoÂïV[ Öò©Ãm ïõ¦¤>_. 

24. Which of the following is incorrect about the objectives of Chandrayan I? 

A) To find the elements. 

B) To make a 3-dimensional atlas of the Moon. 

C) To find the possibility of water. 

D) To study the possibility of organisms to survive. 

ÄÍ]«VB[ Ia[ ¼åVÂïºï¹_ >kÅVªm ¨m? 

A) >M\ºïçáÂ ïõ¦¤>_. 

B) óöBÂ z|DÃÝ][ ÃöðV\ káìßEçB g«VF>_. 

C) Àì Öò©Ã>uïVª ÄVÝ]BÂ í®ïçáÂ ïõ¦¤>_. 

D) clöªºïçá kVµk>uïVª ÄVÝ]B í®ïçáÂ ïõ¦¤>_. 
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25. Statement 1: One Astronomical unit is 1.496 × ��
� Km  

Statement 2: One light year is 9.4607× ��
�� Km 

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

íu® 1 : Îò kVMB_ ¶éz a �. ��� � ��
� þ.*. 

íu® 2 : Îò Î¹ gõ| a �. ���� � ��
�� þ.*. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

26. 1. It is nearest to the Sun.  

2. It is very hot during day but very cold at night.  

3. It can be easily observed thorough telescope 

4. It always appears in the eastern horizon or western horizon of the sky 

Which of the following denotes the above statements? 

A) Venus    B) Mercury   C) Mars   D) Saturn  

1. óöBÐÂz tï ¶òþ_ ¶ç\Ím^ám. 

2. Ãïo_ ¶]ï Øk©ÃÝm¦ÐD Ö«s_ ¶]ï z¹ò¦ÐD ïVð©Ã|D. 

3. Ø>Vçé¼åVÂþBV_ Ö>çª å[z ïVð x½¥D. 

4. þwÂz ¶_ém ¼\uzÝ ]çÄl[ ÿµkVªÝ]_ \â|¼\ ïVð ÖBKD. 

¼\uïVbD\ íu® ¨ç> Ãu¤Bm? 

A) Øk^¹  B) A>[  C) ØÄËkVF  D) ÄM 

27. Which of the following is incorrect about the composition of Sun? 

A) 70.6% Hydrogen  B) 27.4% Helium  C) 2% other gases  D) None of the above 

óöBM[ ¶ç\©A Ãu¤B]_ >kÅVªm ¨m? 

A) 70.6% çÇâ«Û[ B) 27.4% êoBD C) 2% Ö>« kV¥Âï^ D) ¨m¡t_çé 

28. The Shape of Milky way galaxy is  

A) Barred Spiral galaxy  B) Elliptical galaxy  C) Irregular galaxy  D) A and B  

ÃV_Øk¹ T] sõ*[ ]«¹[ k½kD? 

A) ·ò^ ]«^  B) À^kâ¦Ý ]«^ C) k½k\uÅ ]«^ D) A&B 

29. The only moon in the solar system with clouds was  

A) Demos    B) Phobos  C) Titan  D) Triton 

åD óöB \õ¦éÝ]_ ¼\ïºïÓ¦[ k½B Î¼« Wé¡? 

A) Ï¼\Vü  B) ¼ÃV¼ÃVü  C) ç¦â¦[  D) ½ç«â¦[ 

30. Match the following       a b c d e 

a. NASA   - 1. Russia    A) 4 5 3 2 1 

b. ESA    - 2. America    B) 3 4 2 5 1 

c. ROSKOSMOS  - 3. Europe    C) 2 3 1 5 4 

d. JAXA   - 4. Canada    D) 2 1 3 4 5 

e. CSA   - 5. Japan  

ØÃVòÝmï.       a b c d e 

a. NASA   a 1. «iBV   A) 4 5 3 2 1 

b. ESA   a 2. ¶Ø\öÂïV  B) 3 4 2 5 1 

c. ROSKOSMOS  a 3. n¼«V©ÃV   C) 2 3 1 5 4 

d. JAXA   a 4. ïª¦V   D) 2 1 3 4 5 

e. CSA   a 5. Û©ÃV[ 
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31. Whose name was memorialized with the launch of Jupiter bound space probe? 

A) Subramaniam Chandrasekar    B) Galileo Galilei  

C) Vikram Sarabhai     D) None of the above  

sBVw[ ÄVìÍ> sõØk¹ OõðVF¡Â ïéÐÂz BVòç¦B ØÃBì óâ¦©Ãâ¦m? 

A) ·©«\èB[ ÄÍ]«¼Äïì   B) ïoo¼BV ïoo 

C) sÂ«D ÄV«VÃVF    D) ¨m¡t_çé 

32. Choose the correct statement about Elliptical galaxy  

A) About one fourth of the galaxy found is belonged to this type  

B) The Milky Way Galaxy, where our own Solar System is elliptical galaxy  

C) Consists of older galaxies 

D) All the above  

À^kâ¦ sõ*[ ]«^ï^ Ãu¤B íu®ï¹_ ÄöBVªç>Ý ¼>ìÍØ>|. 

A) Ömkç« ïõ|¸½Âï©Ãâ¦ sõ*[ ]«^ï^ 1/4 ÖÍ> kçïçBß ¼ÄìÍ>m. 

B) å\m óöB \õ¦éD ¶ç\Í]òÂzD ÃV_Øk¹Ý]«áVªm À^kâ¦ sõ*[ ]«^ïçáß 

ÄVìÍ>m. 

C) ¶]ï kBmç¦B sõ*[ïçá c^á¦ÂþBçk. 

D) ¼\uïõ¦ ¶çªÝmD. 

33. Which is the nearest star to the sun? 

A) Andromeda     B) Alpha Centauri  

C) Proxima Centauri    D) Serus 

óöBÐÂz tï ¶òþ_ ïVð©Ã|D åâÄÝ]«D ¨m? 

A) ¶õ½¼«V*¦V  B) g_ÃV ØÄ[¦Vö C) ¸«VÂL\V ØÄ[¦Vö D) ØÄ«ü 

34. Match the constellations with their names  

Indian Name   English Name     a b c d 

a. Mesham   - 1. Cancer    A) 2 1 4 3 

b. Rishabam   - 2. Aries    B) 2 3 4 1 

c. Mithunam   - 3. Tarus    C) 3 2 1 4 

d. Kadagam   - 4. Gemini    D) 4 3 2 1 

sõ*[ \õ¦éºï¹[ ØÃBìïçá© ØÃVòÝmï. 

 ÖÍ]B© ØÃBì gºþé© ØÃBì   a b c d 

a. ¼\2D   a 1. ¼ï[Äì   A) 2 1 4 3 

b. ö2ÃD   a 2. °öü   B) 2 3 4 1 

c. tmªD   a 3. ¦V«ü   C) 3 2 1 4 

d. ï¦ïD   a 4. ØÛtM   D) 4 3 2 1 

35. 1. It takes up most of the space in a rocket 

2. It consists of fuel (propellant) tanks, pumps and a combustion chamber 

Which of the following denotes the above statement? 

A) Guidance system     B) Propulsion system  

C) Structural system     D) Payload system  

1. «VÂØïâ½_ c^á ØÃòDÃz] Ö¦Ýç> ÖËkç\©¼Ã ¨|ÝmÂ ØïV^þÅm. 

2. Öm ¨öØÃVò^ ïéºï^ ÖçÅ©ÃV[ï^, \u®D ¨öRâ|D ¶çÅ gþBËÅçÅÂ ØïVõ|^ám. 

¼\uïVbD íu® ¨ç> Ãu¤Bm? 

A) kaïVâ| ¶ç\©A    B) cÍmsçÄ ¶ç\©A 

C) ïâ¦ç\©A ¶ç\©A    D) Ãèß·ç\ ¶ç\©A 
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36. Statement 1: When the fuel in the rocket is burnt, it will produce an upward thrust. There will be a  

point at which the upward thrust will be greater than the weight of the satellite. At that point the 

clamp will be removed by remote control and the rocket will move upwards.  

Statement 2: According to Newton’s second law, for every action there is an equal and opposite  

reaction. As the gas is released downward, the rocket will move upward. 

A) Statement 1, 2 is true     B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

íu® 1 : «VÂØïâ½[ ¼\_ Ãz]l_ çkÂï©Ãâ| ÖòÂzD «VÂØïâ½_ c^á ¨öØÃV«áVªm 

¨öRâ|D¼ÃVm, ¶m ¼\_¼åVÂþB cÍm sçÄçB còkVÂzþÅm. ÖËsçÄBVªm 

«VÂØïâ½[ ¨ç¦çB s¦ ¶]ï\VzD ¼ÃVm Ø>VçéÂ ïâ|©ÃVâ|Â ïòsl[ JéD 

ÖòÂþï^ ÀÂï©Ãâ| «VÂØïâ ¼\_¼åVÂþ åïìþÅm. 

íu® 2 : ÎËØkVò sçªÂzD Ä\\Vª ¨]ìsçª cõ| ¨[Å WRâ¦M[ Ö«õ¦VD ÖBÂï 

s]l[Ã½ «VÂØïâ½oòÍm kV¥Âï^ ÿµ¼åVÂþ Øk¹¼BuÅ©Ã|D¼ÃVm «VÂØïâ¦Vªm 

¼\_¼åVÂþ åïìþÅm. 

A) íu® 1, 2 Äö  B) íu® 1 Äö, 2 >k® C) íu® 1 >k®, 2 Äö D) íu® 1, 2 >k® 

37. In which year did Johannes Kepler propose three laws of planetary motion? 

A) 1565   B) 1650  C) 1600  D) 1610 

¼ÛVï[ü Øï©áì ¼ïV^ï¹[ ÖBÂïÝ]uïVª J[® s]ïçá Øk¹lâ¦ gõ| ¨m? 

A) 1565   B) 1650  C) 1600  D) 1610 

38. 1. Microgravity is the condition in which people or objects appear to be weightless. 

2. The effects of gravity can be seen when astronauts and objects float in space 

3. Microgravity means very large attraction  

Consider the above statements 

A) 1, 2 is true and 3 is false    B) 1 is true and 2, 3 is false  

C) 1, 2 is false and 3 is true    D) 1, 2, 3 is true 

1. Oõ ~ì©A ¨[Ãm ØÃVò^ï^ ¶_ém \M>ìï^ ¨ç¦Bu® Öò©Ãm¼ÃV_ ¼>V[®D Wçé gzD. 

2. sõØk¹ T«ìïÓD Îò Eé ØÃVò^ïÓD sõØk¹l_ t>ÂzD¼ÃVm As~ì©¸[ 

sçá¡ïçá åVD ¶¤BéVD. 

3. Oõ ~ì©A ¨[ÅV_ tï©ØÃöB ~ì©A ¨[® ØÃVò^Ã|D. 

¼\uïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3 >k® B) 1 Äö; 2, 3 >k® C) 1, 2 >k®; 3 Äö D) 1, 2, 3 Äö 

39. How many days does Mars take to orbit the Sun? 

A) 365   B) 478   C) 584   D) 687 

ØÄËkVF þ«ïD ¨Ý>çª åVâï¹_ óöBçª ·u®þÅm? 

A) 365   B) 478   C) 584   D) 687 

40. Statement 1: All stars appear to us as moving from east to west, where as there is one star which  

appears to us stationary in its position. It has been named as Halley star  

Statement 2: pole star is visible from the southern hemisphere. 

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false 

C) Statement 1 is false and 2 is true  D) Statement 1, 2 is false 

íu® 1 : ¶çªÝm sõ*[ïÓD þwÂþ_ ÖòÍm ¼\uïVï åïìkm ¼ÃV_ ¼>V[¤ªVKD Î¼« Îò  

sõ*[ \â|D åï«V\_ c^ám¼ÃV_ Ø>ö¥D. ¶m ¼ÇokV_ sõ*[ ¨[® ¶çwÂï©Ã|þÅm. 

íu® 2 : Asl[ Ø>uz ¶ç«Â¼ïVáÝ]_ ÖòÍm mòk sõ*[ Ø>¹kVï Ø>öþÅm. 

A) 1, 2 Äö   B) 1 Äö, 2 >k® C) 1 >k®, 2 Äö D) 1, 2 >k® 
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41. Choose the correct pair  

A) Law of equal areas - The square of time period of revolution of a planet around the Sun is  

directly proportional to the cube of the distance between sun and the planets. 

B) Law of Harmonies - The line connecting the planet and the Sun covers equal areas in equal  

intervals of time. 

C) Law of Ellipses - All planets revolve around the Sun in elliptical orbits with Sun at  

one of their foci.    D) None of the above  

ÄöBVª ÖçðçBÂ ïVõï. 

A) Ä\ Ã«©Aï¹[ s] a ¨Í> Öò ¼ïV^ïÓÂzD ·u®ÂïVéºï¹[ Öò\½ï¹[ sþ>D 

óöBMoòÍm ¶ku¤[ ÃV]Bá¡ ¼Ã«ß·ï¹[ xD\½ï¹[ sþ>Ý]uz Ä\D. 

B) ÎÝ]çÄ¡ï¹[ s] a ¼ïV¹[ ç\BÝç>¥D óöBM[ ç\BÝç>¥D ÖçðÂzD 

ïuÃçªÂ ¼ïV| Ä\ ïVéºï¹_ Ä\ Ã«©AïçáÂ ï¦ÂþÅm. 

C) À^kâ¦ºï¹[ s] a óöBM[ ç\BD Îò zsBÝ]_ c^ákV® À^kâ¦© ÃVç>l_ 

¼ïV^ï^ óöBçªß ·u¤ kòþ[Åª. D) ¨m¡t_çé. 

42. The orbital velocity of a satellite depends on it’s ________above the Earth. 

A) Volume   B) Altitude   C) Density   D) Mass  

Îò ØÄBuçïÂ¼ïV¹[ ·u¤BÂïÝ ]çÄ¼kïD ¨[Ãm AsloòÍm c^á ________ ØÃV®Ý>m. 

A) Ãò\[   B) cB«D  C) ¶¦ìÝ]  D) WçÅ 

43. Statement 1: World first satellite is Sputnik 1. 

Statement 2: The country which sent the world first satellite in Russia. 

A) Statement 1, 2 is true    B) Statement 1is true and 2 is false 

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false 

íu® 1 : céþ[ x>_ ØÄBuçïÂ¼ïV^ üAâMÂ a 1. 

íu® 2 : céþ[ x>_ ØÄBuçïÂ¼ïVçá °sB åV| «iBV. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

44. Choose the correct pair  

A) Consist of Flat rotating circular stars - Irregular galaxy  

B) Ellipsoid galaxy   - A three-dimensional shape without structure 

C) Rotatory galaxy   - Irregular shape  

D) None of the above  

ÄöBVª ÖçðçBÂ ïVõï. 

A) >âç¦BVª ·wKD kâ| åâÄÝ]«ºïçáÂ ØïVõ|^ám a Î¿ºïuÅ sõ*[ ]«^ï^ 

B) À^kâ¦ sõ*[ ]«^ï^ a ¶ç\©A Ö_éV> x©Ãö\Vð k½kD 

C) ·w_ sõ*[ ]«^ï^ a Î¿ºïuÅ k½kD 

D) ¨m¡t_çé. 

45. Consider the following statements  

1. All of the matter in the universe is made of hydrogen and helium, the simplest elements, created in the  

Big Bang. 

2. The rest, including the oxygen we breathe, the carbon, calcium, and iron in our body, and silicon is  

used in computers are formed in the cores of stars 

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  
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ÿµÂïõ¦ íu®ïçá g«VFï 

1. ¶õ¦Ý]_ c^á ¶çªÝm ØÃVò^ïÓD ØÃòØk½©¸[ ¼ÃVm ¼>V[¤B ¶½©Ãç¦ 

>M\ºïáVª çÇâ«Û[ \u®D êoBD gþBkuÅV_ gªçk. 

2. åVD ·kVEÂzD gÂEÛ[ c¦o_ c^á ïVìÃ[, ïV_EBD, ïèMß E_Kï¹_ ÃB[Ã|D 

EoÂïVª c^¹â¦ °çªB >M\ºï^ ¶çªÝmD sõ*[ï¹[ c^á¦ÂïÝ]_ c^áª. 

A) 1, 2 Äö   B) 1 Äö, 2 >k® C) 1 >k®, 2 Äö D) 1, 2 >k® 

46. Which of the following is incorrect about the Shape of constellations? 

A) Aries    B) Scorpius   C) Gemini   D) Cancer  

ÿµÂïõ¦çkï¹_ åâÄÝ]«Â íâ¦ k½kºï¹_ >kÅVª Î[® ¨m? 

A) gâ|Âï¦V  B) ¼>^  C) tmªD  D) ï¦ïD 

47. Venus is hotter than Mercury because Venus densest atmosphere is almost entirely filled by  

A) Helium   B) Hydrogen  C) Carbon di oxide D) Iron Oxide 

Øk^¹ A>çªs¦ ¶]ï Øk©Ã\Vªm °ØªM_, Øká¹ tï¡D ¶¦ìÝ]BVª k¹\õ¦éD 

\u®D °ÅÂzçÅB x¿kmD ________ g_ gªm. 

A) êoBD  B) çÇâ«Û[ C) ïVìÃ[ ç¦ gÂçÄ|  D) ÖòDA gÂçÄ| 

48. Choose the not matched Pair  

A) Green colour Star - Neptune    B) Cold gas giant Planet - Uranus  

C) Major Planet - Saturn    D) Mars - Demos and Phobos 

ØÃVòÍ>V> ÖçðçBÂ ïVõï. 

A) ÃßçÄ WÅ sõ*[ ïVâE a Øå©½R[ B) z¹ìtz kV¥© ØÃòº¼ïV^ a ¥¼«ªü 

C) ØÃòº¼ïV^ a ÄM    D) ØÄËkVF a Ï¼\Vü, ¼ÃV¼ÃVü 

49. Which of the following statement is incorrect 

A) Nowadays, many artificial satellites are launched into the earth’s orbit. 

B) The first artificial satellite sputnik was launched in 1975. 

C) India launched its first satellite Aryabhata on April 19, 1975. 

D) The horizontal velocity that has to be imparted to a satellite at the determined height so that it needs a 

circular orbit around the planet is called Orbital velocity 

ÿµÂïõ¦ íu®ï¹_ >kÅVªm ¨m? 

A) >uïVéÝ]_ Ãé ØÄBuçïÂ ¼ïV^ï^ ¯tl[ ·uÅkâ¦©ÃVç>l_ ØÄKÝ>©Ã|þ[Åª. 

B) 1975a_ ØÄKÝ>©Ãâ¦ üAâMÂ ¨[Å ØÄBuçïÂ ¼ïV¼á x>[xçÅBVï ØÄKÝ>©Ãâ¦ 

ØÄBuçïBVª mçðÂ¼ïV^ gzD. 

C) ÖÍ]BV >ªm x>_ ØÄBuçï ¼ïVáVª göBÃâ¦Vçk °©«_ 19, 1975a_ ØÄKÝ]Bm. 

D) ¼ïV¹oòÍm Îò WìðlÂï©Ãâ¦ cB«Ý]_ ØÄBuçïÂ¼ïV^ Î[® kâ¦©ÃVç>l_ 

·u¤kòk>uz ¶>uz ¶¹Âï©Ã|D þç¦\â¦Ý ]çÄ¼kïD ·u¤BÂïÝ ]çÄ¼kïD ¨ª©Ã|D. 

50. Statement 1: A body moving in an orbit around a planet is called satellite. 

Statement 2: Satellite moves around the planet due to magnetic force. 

Statement 3: Among the planets in the solar system, all the planets have moons except mercury and Venus. 

A) 1 only   B) 2 only  C) 3 only  D) 2, 3 only 

íu® 1 : Îò ·u®©ÃVç>l_ óöB\õ¦éÝ]_ ¼ïV^ïçáß ·u¤ kòD ØÃVò^ mçðÂ¼ïV^ï^ 

¨[ÅçwÂï©Ã|þÅm. 

íu® 2 : ïVÍ> sçÄl[ ïV«ð\Vï mçðÂ¼ïV^ ¼ïV^ïçáß ·u¤ kòþ[Åª. 

íu® 3 : óöB\õ¦éÝ]K^á ¼ïV^ïÓ^ A>[ \u®D Øk^¹ ¼ïV^ïçáÝ >s« \uÅ 

¶çªÝ]uzD Wé¡ï^ c^áª. 

¼\uïVbD íu®ï¹_ >kÅVªm ¨m/¨çk? 

A) 1 \â|D  B) 2 \â|D  C) 3 \â|D  D) 2, 3 \â|D 
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1. Statement 1: The smallest unit of an element which may or may not have an independent existence, but 

always takes part in a chemical reaction is called atom. 

Statement 2: The smallest particle of an element of a compound is called molecule. It exists 

independently  

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

íu® 1 : ¼k]sçªl_ °uÃ|D tïßE¤B mï^ ¶b gzD. ¶bkVªm >MÝ¼>V, ¼ÄìÍ¼>V 

ïVð©Ã|D. 

íu® 2 : Îò >M\D ¶_ém Îò ¼Äì\Ý][ tïßE¤B mï^ JéÂí® gzD. Öm >MÝm 

ïVð©Ã|D. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

2. Which of the following statement is incorrect?  

A) Element Made up of only one kind of atom. 

B) The smallest particle that retains all its properties is an atom. 

C) Element Cannot be broken down into simpler substances. 

D) Elements made up of more than one kind of atom. 

ÿµÂïVbD íu®ï¹_ >kÅVªm ¨m? 

A) >M\D Î¼« kçïBVª ¶bÂïçáÂ ØïVõ¦m. 

B) Îò >M\Ý][ ¶çªÝm ÃõAïçá¥D tïßE¤B mïáVï ¶bkVªm >[ªïÝ¼> ØïVõ|^ám. 

C) >M\\Vªm ¼k]lB_ xçÅl_ ¨¹B ØÃVòâïáVï ¸öÂï ÖBéVm. 

D) >M\D Î[®ÂzD ¼\uÃâ¦ ¶bÂïáV_ gªm. 

3. The method in which to separate two or more miscible liquids which do not differ much in their boiling is 

called as 

A) Chromatography    B) Fractional distillation  

C) Colloidal Solution     D) Paper chromatography 

Ö«õ| ¶_ém Ö«õ½uz ¼\uÃ¦¦ ØïV]Wçé ¼k®ÃV½_éV> ïç«Bïí½B ]«kºïçá 

¸öÂï ÃB[Ã|Ý>©Ã|D xçÅ? 

A) kõð©¸öçï xçÅ    B) ¸[ªÂ ïVFßE k½Ý>_ 

C) íµ\Â ïç«Ä_    D) >V^ kõð©¸öçï 

4. The chemical Formula for Sugar is  

A) C�H��O�  B) C��H��O��  C) C�H��O�  D) C��H��O� 

ÄìÂïç«l[ ¼k]lB_ kVF©ÃV|. 

A) C�H��O�  B) C��H��O��  C) C�H��O�  D) C��H��O� 

åDç\ß ·u¤¥^á Ãò©ØÃVòâï^ (6, 7, 8, 9aD kz©A) ¼>ì¡ a 11 
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5. 1. Compounds of phosphorous, nitrogen and potassium are used in fertilizers 

2. Silicon compounds are of immense importance in the computer industry 

3. Compounds of fluorine are used in our toothpastes as they strengthen our teeth. 

Consider the above statements 

A) 1, 2 true & 3 is false    B) 1, 2, 3 is true 

C) 1, 3 true & 2 is false     D) 1, 2, 3 is false  

1. ÃVüÃ«ü, çåâ«Û[ \u®D ØÃVâ¦VEBÝ][ ¼Äì\ºï^ c«D >BVöÂï© ÃB[Ã|þ[Åª. 

2. EoÂïV[ ¼Äì\ºï^ ïè©ØÃV¤ mçÅl_ xÂþB© Ãºz kþÂþ[Åª. 

3. àA¼áVö[ ¼Äì\ºï^ åD Ãuïçá kK©Ã|Ý> c>¡D ÃuÃçÄl_ ÃB[Ã|þ[Åª. 

¼\uïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3 >k® B) 1, 2, 3 Äö  C) 1, 3 Äö; 2 >k® D) 1, 2, 3 >k® 

6. Assertion: Liquefied Petroleum Gas is highly inflammable hydrocarbon gas 

Reason: It contains mixture of butane and propane gases. LPG, liquefied through pressurization, is used 

for heating, cooking, auto fuel etc. 

A) Assertion and reason are true   B) Assertion and reason are false  

C) Assertion is true and reason is false   D) Assertion is false and reason is true  

íu® : ]«k\VÂï©Ãâ¦ ØÃâ¼«VoB kV¥. Öm tï ¨¹]_ y©ÃuÅÂí½B çÇâ¼«VïVìÃ[ 

kV¥kVzD. 

ïV«ðD : ]«k\VÂï©Ãâ¦ ØÃâ¼«VoB kV¥s_ A«©¼Ã[ \u®D ¸Râ¼¦[ kV¥ÂïçáÂ 

ØïVõ½òÂþÅm. ¶¿Ý>Ý]uz câÃ|Ý>©Ãâ| ]«k\VÂï©Ã|D Öm, 

Øk©Ã©Ã|Ý>¡D cð¡ Äç\Âï¡D, kVïª ¨öØÃVòáVï¡D ÃB[Ã|Ý>©Ã|þÅm. 

A) íu® (\) ïV«ðD Äö.   B) íu® (\) ïV«ðD >k®. 

C) íu® \â|D Äö, ïV«ðD >k®.  D) íu® >k®, ïV«ðD \â|D Äö. 

7. Assertion: Blood is a mixture  

Reason: It is a mixture of various components such as platelets, red and white blood corpuscles and  

plasma 

A) Assertion and reason are true, reason is the correct explanation of assertion  

B) Assertion and reason are true, reason is not the correct explanation of assertion  

C) Assertion is true and reason is false  

D) Assertion is false and reason is true  

íu® : Ö«Ý>D Îò ïéçk. 

ïV«ðD : Ö«Ý>Ý]_ Ö«Ý>Ý>â|ï^, Ek©A \u®D Øk^çá Ö«Ý> ¶bÂï^ \u®D 

¸áVü\V ¼ÃV[Å Ã_¼k® í®ï^ ïéÍm^áª. 

A) íu® (\) ïV«ðD Äö; ¼\KD, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\VzD. 

B) íu® (\) ïV«ðD Äö; gªV_, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\_é. 

C) íu® \â|D Äö, ïV«ðD >k®. 

D) íu® >k®, ïV«ðD \â|D Äö. 

8. Which of the following is an example of Sublimation?  

A) Iodine       B) Camphor  

C) Ammonium Chloride     D) All the above  

ÿµÂïVõÃªku®^ Ã>ºï\V>KÂz ¨|ÝmÂïVâ|? 

A) ¶¼BV½[     B) ïu¯«D 

C) ¶D¼\VMBD z¼áVç«|   D) ¼\uïõ¦ ¶çªÝmD 
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9. Which of the following non-metal is good conductor of electricity?  

A) Graphite   B) Gold   C) Silver   D) Copper  

¶¼éVïºï¹_ t[ÄV«Ýç>Â ï¦Ý>Âí½Bm ¨m? 

A) þ«VàçÃâ  B) >ºïD  C) Øk^¹  D) >Vt«D 

10. Statement 1: In milk diaries, centrifugation is used to separate cream from milk. 

Statement 2: In washing machines, Centrifugation principle is used to squeeze out water from wet  

clothes 

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

íu® 1 : ç\BséÂzxçÅ ÃV_ ØÃVò^ï¹_ ÃVéVç¦çB¥D, ØïV¿©¸çª¥D ÀÂþ 

Ã>©Ã|Ý>©Ãâ¦ ÃV_ >BVöÂï ÃB[Ã|þÅm. 

íu® 2 : Äéçk ÖBÍ]«ºï¹_ ç\BséÂz xçÅ >ÝmkÝ][ JéD ~«Ýmèl_ ÖòÂzD 

Àì ¸aÍm Øk¹¼BuÅ©Ã|þÅm. 

A) 1, 2 Äö   B) 1 Äö, 2 >k® C) 1 >k®, 2 Äö D) 1, 2 >k® 

11. 1. Tap water, milk, air, ice cream, sugar syrup, ink, steel, bronze and salt solution are homogeneous  

mixtures 

2. Soil, Iodine, Mixture of Salt and Sugar are an example of Heterogeneous mixture  

3. A mixture in which the components can be seen separately is called a homogeneous mixture  

Consider the above statements  

A) 1, 2 is true and 3 is false    B) 1, 3 is true and 2 is false  

C) 1, 2, 3 is true      D) 1, 2, 3 is false  

1. zwVF Àì, ÃV_, ïVu®, ÃMÂíµ, ÄìÂïç«© ÃVz, ç\, ¨àz, ØkõïéD \u®D c©A 

¼ÃV[Åçk Îò Ã½Ý>Vª ïéçkï^ gzD. 

2. \õ, ¶¼BV½[, c©AÂ ïéçk, ÄìÂïç« ¼ÃV[Åçk Ãé Ã½Ý>Vª ïéçkï^ gzD. 

3. Îò Ã½Ý>Vª ïéçkl_ ¶>[ Ãz]© ØÃVò^ïçá >MÝ>MBVï ÃVìÂï ÖBKD. 

¼\uïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3 >k®    B) 1, 3 Äö; 2 >k®  

C) 1, 2, 3 Äö     D) 1, 2, 3 >k® 

12. Which of the following is incorrect?  

A) The air fresheners are used in toilet 

B) The solid slowly sublimes and releases the pleasant smell in the toilet over a certain period of time 

C) Moth balls, made of naphthalene are used to drive away moths and some other insects 

D) Naphthalene sublimes converted into Liquid  

ÿµÂïõ¦ku®^ >kÅVªm ¨m? 

A) ïakçÅï¹_ ïVu® #Fç\BVÂþï^ ÃB[Ã|þ[Åª. 

B) ïVu® #Fç\BVÂþl_ c^á ]õ\D Ø\mkVï Ã>ºï\Vþ å®\ðx^á kV¥çk Îò 

z¤©¸â¦ ïVéD kç« Øk¹l|k>[ JéD ïakçÅçB å®\ð>m¦[ çkÂþ[Åª. 

C) åVà©>Üçª c^á¦ÂþB ¶Ýmòõç¦, ¯ßEïçá s«â¦© ÃB[Ã|þÅm. 

D) åVà©>Ü[ Ã>ºï\Vþ ]«k\Vï \V®þÅm. 

13. ________ is used for making jewels, cutting and grinding equipment’s 

A) Diamond   B) Graphite   C) Fullerene   D) Sulphur  

¶éºïV« åçïï^ >BVöÂï¡D, Økâ|D \u®D ¶ç«ÂzD ÄV>ªºï^ >BVöÂï¡D ÃB[Ã|km? 

A) çk«D   B) þ«VàçÃâ  C) A_éZ[  D) ïÍ>ïD 
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14. How many pairs are correctly matched?  

1. Manufacturing of Gun powder  - Sulphur  

2. Vulcanization process   - Sulphur 

3. Manufacturing rat poison   - Phosphorous  

4. Manufacturing ammonia   - Nitrogen  

A) 4 Pairs    B) 3 Pairs   C) 1 Pair   D) 2 Pairs  

¨Ý>çª Öçð ÄöBVï ØÃVòÝ>©Ãâ|^ám? 

1. m©ÃVÂþ #^ >BVöÂï a ïÍ>ïD.  2. k_ïçªü ØÄF>_ a ïÍ>ïD. 

3. ¨o \òÍm >BVöÂï a ÃVüÃ«ü.  4. ¶D¼\VMBD >BVöÂï a çåâ«Û[ 

A) 4 Öçðï^  B) 3 Öçðï^ C) 1 Öçð  D) 2 Öçðï^ 

15. Match the following  

Element  Latin name     a b c d 

a. Mercury  - 1. Aurum    A) 4 3 2 1 

b. Tin   - 2. Argentum   B) 2 1 4 3 

c. Silver   - 3. Stannum    C) 3 1 2 4 

d. Gold   - 4. Hydrargyrum  D) 1 2 4 3 

ØÃVòÝmï. 

][\D  ÖéÝy[ ØÃBì   a b c d 

a. Ø\ìÂzö a 1. g«D   A) 4 3 2 1 

b. Øk^CBD a 2. ¶ìØÛõ¦D  B) 2 1 4 3 

c. E_kì  a 3. ü¼¦ªD   C) 3 1 2 4 

d. >ºïD  a 4. çÇâ«Vì÷«D  D) 1 2 4 3 

16. Which of the following statement is correct?  

1. Metals in general have high melting point and boiling point 

2. Metals generally have high density. 

3. Generally, metals are good conductors of heat and electricity 

4. Metals are said to be sonorous. 

A) All are true   B) 1 only true   C) 2, 3 only true  D) 1, 4 only true  

ÿµÂïVõÃªku®^ ÄöBVªm ¨m? 

1. c¼éVïºï^ ØÃVmkVï ¶]ï còzWçé \u®D ØïV]WçéçB© ØÃu®^áª. 

2. ØÃVmkVï c¼éVïºï^ ¶]ï ¶¦ìÝ]çB ØÃu®^áª. 

3. ØÃVmkVï c¼éVïºï^ Øk©ÃÝç>¥D t[ÄV«Ýç>¥D å[z ï¦Ý>Âí½Bçk. 

4. c¼éVïºï^ ÎoçB ¨¿©AD ÃõA ØÃu®^ám. 

A) ¶çªÝmD Äö B) 1 \â|D Äö C) 2, 3 \â|D Äö D) 1, 4 \â|D Äö 

17. Statement 1: The beam of light coming from headlights of vehicles is due to Tyndall effect 

Statement 2: Blue colour of sky is also due to Tyndall effect. 

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

íu® 1 : kVïªÝ][ xï©A sáÂþoòÍm kòD Î¹, Î¹ÂïuçÅBVïÝ ¼>V[®km ½õ¦V_ 

kçásªV_ gzD. 

íu® 2 : kVªD Àé WÅ\VïÝ ¼>V[®kmD, ½[¦V_ sçásªV_ gzD. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 
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18. Which of the following statement is incorrect?  

A) Lead is used in automobile batteries, X-ray machines. 

B) Aluminium is used in electrical wires, cables and in aerospace industries. 

C) Steel is used for making electrical wires, coins and statue 

D) Silver and gold are used in Photography  

ÿµÂïõ¦ íu®ï¹_ >kÅVªm ¨m? 

A) >VMBºþ kVïªºï¹[ t[ïé[ï^ >BVöÂï¡D, xaï]ì ¨Í]«ºï^ >BVöÂï¡D ïVZBD 

ÃB[Ã|þ[Åm. 

B) t[ ïD¸ï^, kVûì] \u®D «VÂØïâ½[ ÃV>ºï^ >BVöÂï ¶KtMBD ÃB[Ã|þÅm. 

C) t[ ïD¸ï^, Eçéï^, åVðBºï^ gþBçk >BVöÂï ¨àz ÃB[Ã|þÅm. 

D) >ºïD \u®D Øk^¹ gþBçk Açï©Ã¦Ý mçÅl_ ÃB[Ã|þÅm. 

19. Which of the following is not matched?  

Property       Metal  

A) Melting Point      - Usually High  

B) Boiling Point      - Usually High  

C) Density      - Usually High  

D) Conductivity (Thermal and Electrical) - Very Poor  

ØÃVòÍ>V>m ¨m? 

ÃõA       c¼éVïD 

A) còzWçé     a ØÃVmkVï ¶]ïD 

B) ØïV]Wçé     a ØÃVmkVï ¶]ïD 

C) ¶¦ìÝ]     a ØÃVmkVï ¶]ïD 

D) Øk©ÃD \u®D t[ÄV«D ï¦ÝmD ]Å[ a ¶ö]u ï¦Ý]ï^ 

20. 1. In Solution, Brownian movement may happen. 

2. True solution does not scatter. 

3. In colloidal solution, the light scatters partly. 

4. The Particle size of the colloidal solution is 1 to 100 nm. 

Which of the following statement is correct?  

A) All are true   B) 1, 2 only true  C) 3 only true   D) 3, 4 only true  

1. Ø>Vºï_ ïç«Äo_ ¸Ø«áMB[ ÖBÂïD åç¦ØÃÅéVD. 

2. cõç\Â ïç«Ä_ Î¹çB E>Å½ÂïVm. 

3. íµ\Â ïç«Ä_ Ãz] Î¹ »|òkÂí½Bm. 

4. íµ\Â ïç«Ä_ mï¹[ còk ¶á¡ 1oòÍm 100nm. 

¼\uïVbD íu®ï¹_ ÄöBVªm ¨m? 

A) ¶çªÝmD Äö B) 1, 2 \â|D Äö C) 3 \â|D Äö D) 3, 4 \â|D Äö 

21. Match the following       a b c d 

a. Gas + Solid   - 1. Cake, Bread   A) 4 3 2 1 

b. Gas + Liquid   - 2. Soap lather   B) 2 1 4 3 

c. Liquid + Liquid  - 3. Oil in water   C) 3 4 1 2 

d. Solid + gas   - 4. Dust    D) 1 2 3 4 

ØÃVòÝmï.       a b c d 

a. kV¥ + ]õ\D  a 1. ¼ïÂ, Ø«Vâ½  A) 4 3 2 1 

b. kV¥ + ]«kD  a 2. ¼ÄV©A Oç«  B) 2 1 4 3 

c. ]«kD + ]«kD a 3. ¨õØðF ïéçk C) 3 4 1 2 

d. ]õ\D + kV¥ a 4. #E   D) 1 2 3 4 
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22. 1. Diamond is shiny and also the hardest natural substance on earth. 

2. Oxygen, Hydrogen and Chlorine are gases at room temperature 

3. Carbon, Iodine, Sulphur and Phosphorus are solids at room temperature. 

Consider the above statements  

A) 1, 2 is true and 3 is false    B) 2, 3 is true and 1 is false  

C) 1, 2, 3 is true      D) 1, 2, 3 is false  

1. çk«D ÃáÃá©ÃVªm; ¯tl_ þç¦ÂïÂí½B >M\ºïÓ^ ï½ª\Vªm gzD. 

2. gÂEÛ[, çÇâ«Û[ \u®D z¼áVö[ ¼ÃV[Åçk ¶çÅ Øk©ÃWçél_ kV¥  

 Wçél_c^áª. 

3. ïVìÃ[, ¶¼BV½[, Ä_Ãì \u®D ÃVüÃ«ü ¼ÃV[Åçk ¶çÅ Øk©Ã Wçél_ ]õ\ 

Wçél_ c^áª. 

¼\uïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3 >k® B) 2, 3 Äö; 1 >k® C) 1, 2, 3 Äö  D) 1, 2, 3 >k® 

23. 1. Ozone is a substance that is made up of three oxygen atoms chemically combined. 

2. An atom of oxygen (O) and two atoms of hydrogen (H) combine to form a molecule of water 

3. Oxygen gas in the air that we breathe is made up of two oxygen atoms chemically combined. 

Which of the following statement is correct?  

A) All are true   B) 1 only true   C) 2 only true   D) 1, 3 only true  

1. J[® gÂEÛ[ ¶bÂï^ ¼k]© ¸çð©¸ªV_ Öçðk>[ JéD {¼ÄV[ ¨ª©Ã|D. 

Îò JéÂí® còkVÂï©Ã|þÅm. 

2. Àì JéÂíÅVªm Îò gÂEÛ[ ¶b¡D Ö«õ| çÇâ«Û[ ¶bÂïÓD Öçðk>V_ 

còkVþÅm. 

3. åVD ·kVEÂzD ïVu¤_ c^á gÂEÛ[ kV¥kVªm ¼k]©¸çð©¸ªV_ ÖçðÍ> 

Ö«õ| gÂEÛ[ ¶bÂïáV_ còkVþÅm. 

¼\uïVbD íu®ï¹_ ÄöBVªm ¨m? 

A) ¶çªÝmD Äö B) 1, \â|D Äö C) 2 \â|D Äö D) 1, 3 \â|D Äö 

24. Which of the following is incorrect?  

A) Metals are generally soft.   B) Metals can be bent  

C) Metals can be drawn into wires.  D) Metals are used to make objects like bells. 

ÿµÂïõ¦ íu®ï¹_ >kÅVªm ¨m? 

A) c¼éVïºï^ ØÃVmkVï Ø\[ç\BVªçk. 

B) c¼éVïºïçá kçéÂï x½¥D. 

C) c¼éVïºïçá >ï¦Vï ¶½ÂïéVD. 

D) c¼éVïºï^ \èï^ ØÄFB© ÃB[Ã|þ[Åª. 

25. Assertion: common salt (Sodium chloride) is a compound made up of elements sodium and chlorine 

Reason: It is used in our food, whereas sodium and chlorine are poisonous, and both are unsafe for  

consumption. 

A) Assertion and reason are true   B) Assertion and reason are false  

C) Assertion is true and reason is false   D) Assertion is false and reason is true 

íu® : ¼ÄV½BD \u®D z¼áVö[ gþB Öò >M\ºïçá ØïVõ¦ ¼Äì\D ÄV>V«ð c©A gzD. 

ïV«ðD : c©A å\m cðs_ ÃB[Ã|Ý>©Ã|þÅm. gªV_, ¼ÄV½BD \u®D z¼áVö[ 

gþBçk åß·Ý>[ç\ ØïVõ¦ ¼\KD ¶çk cõÃ>uz °uÅçk ¶_é. 

A) íu® (\) ïV«ðD Äö.   B) íu® (\) ïV«ðD >k®. 

C) íu® \â|D Äö, ïV«ðD >k®.  D) íu® >k®, ïV«ðD \â|D Äö. 
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26. Statement 1: Robert Boyle is the first scientist who used the term element 

Statement 2: Robert Boyle is the early proponent of the elemental nature of matter and the nature of  

vacuum 

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

kVÂþBD 1 : «VÃìâ ÃVl_ ¨[Å sÞQVM x>[x>o_ >M\D ¨[Å kVìÝç>çB 

ÃB[Ã|Ý]ªVì. 

kVÂþBD 2 : «VÃìâ ÃVl_ Ãò©ØÃVò^ï^ >M\ºïáVï¼k ïVð©Ã|þ[Åª ¨[Ãç> x>o_ 

í¤ªVì. 

A) kVÂþBD 1, 2 Äö    B) kVÂþBD 1 Äö, 2 >k® 

C) kVÂþBD 1 >k®, 2 Äö   D) kVÂþBD 1, 2 >k® 

27. Match the following        a b c d 

a. Monoatomic molecule   - 1. Carbon di oxide   A) 2 1 4 3 

b. Diatomic molecule   - 2. Sulphur    B) 3 4 1 2 

c. Triatomic molecule   - 3. Noble gases   C) 4 3 2 1 

d. Polyatomic molecule   - 4. Oxygen    D) 3 4 2 1 

ØÃVòÝmï.        a b c d 

a. {«b JéÂí®  a 1. ïVìÃ[ ç¦ gÂçÄ| A) 2 1 4 3 

b. ~«b JéÂí®  a 2. Ä_Ãì   B) 3 4 1 2 

c. Jkb JéÂí®  a 3. \Í> kV¥Âï^  C) 4 3 2 1 

d. Ãé ¶b JéÂí®  a 4. gÂEÛ[   D) 3 4 2 1 

28. Assertion: The most abundant atom in the universe is the hydrogen atom 

Reason: Nearly 74% of the atoms in the universe are hydrogen atoms. However, three most  

abundant atoms on the Earth are iron, oxygen and silicon.  

A) Assertion and reason are true   B) Assertion and reason are false  

C) Assertion is true and reason is false   D) Assertion is false and reason is true  

íu® : ¶õ¦Ý]_ ØÃòDÃV[ç\BVïÂ ïVð©Ã|D ¶b çÇâ«Û[ ¶bkVzD. 

ïV«ðD : ¼Ã«õ¦Ý]_ ïVð©Ã|D ¶bÂïÓ^ °ÅÂzçÅB 74% çÇâ«Û[ ¶bÂïáVzD 

¨MÐD, ¯tl[ *m ïVð©Ã|D J[® xÂþB ¶bÂï^ ÖòDA, gÂEÛ[ \u®D 

EoÂïV[ gzD. 

A) íu® (\) ïV«ðD Äö.   B) íu® (\) ïV«ðD >k®. 

C) íu® \â|D Äö, ïV«ðD >k®.  D) íu® >k®, ïV«ðD \â|D Äö. 

29. 1. Compounds cannot be separated into elements  

2. Atoms are the fundamental particles of compounds  

3. Compound is the simplest substances of a matter  

Consider the following statements  

A) 1, 2 is true and 3 is false    B) 2, 3 is true and 1 is false  

C) 1, 2, 3 is true      D) 1, 2, 3 is false  

1. ¼Äì\ºïçá >M\ºïáVï ¸öÂï ÖBéVm. 

2. ¼Äì\ºï¹[ ¶½©Ãç¦ mï^ï^ ¶bÂï^ gzD. 

3. ¼Äì\ºï¼á Îò Ãò©ØÃVò¹[ ¨¹ç\BVª ØÃVò^ gzD. 

ÿµÂïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3 >k® B) 2, 3 Äö; 1 >k® C) 1, 2, 3 Äö  D) 1, 2, 3 >k® 
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30. ________ is used to make medicine for treating diarrhea. 

A) Silicon    B) Antimony   C) Girgenium   D) Bismuth  

klu®©¼ÃVÂþuz ÄþßçÄB¹ÂzD \òÍ>Vï ÃB[Ã|km? 

A) EoÂïV[  B) g[½\M  C) ÷ì¼ïMBD D) ¸ü\Ý 

31. Which of the following is incorrect?  

A) Antimony   B) Silicon   C) Boron   D) Gold  

ÿµÂïõ¦çkï¹_ >kÅVªm ¨m? 

A) gõ½\è  B) EoÂïV[  C) ¼ÃV«V[  D) >ºïD 

32. Match the following (Atomicity)    a b c 

a. Oxygen   - 1. 2   A) 1 3 2 

b. Phosphorous  - 2. 8   B) 2 1 3 

c. Sulphur   - 3. 4   C) 3 1 2 

      D) 2 3 1 

ØÃVòÝmï. (¶bÂïâ| ¨õ)   a b c 

a. gÂEÛ[ a 1. 2   A) 1 3 2 

b. ÃVüÃ«ü a 2. 8   B) 2 1 3 

c. Ä_Ãì  a 3. 4   C) 3 1 2 

      D) 2 3 1 

33. Which is the only non-metal that is liquid at room temperature? 

A) Graphite   B) Diamond   C) Gallium   D) Bromine  

¶çÅ Øk©ÃWçél_ ]«k Wçél_ ïVð©Ã|D Îò ¶¼éVïD ¨m? 

A) þ«VçÃâ  B) çk«D  C) ïVoBD  D) A¼«Vt[ 

34. ________ is a pure substance that is formed when the atoms of two or more elements combine  

chemically in definite proportions. 

A) Mixture   B) Compound  C) Ores   D) Elements  

Ö«õ| (¶) ¶>uz ¼\uÃâ¦ >M\ºï¹[ ¶bÂï^ Îò z¤©¸â¦ sþ>Ý]_ ¼k]© 

¸çð©¸[ JéD ÖçðÍm þç¦ÂzD #B ØÃVò^ ¨m? 

A) ïéçk   B) ¼Äì\D  C) >Vm  D) >M\D 

35. The metal which is liquid at room temperature is  

A) Chlorine   B) Sulphur   C) Mercury   D) Silver  

¶çÅØk©ÃWçél_ ]«k\Vï c^á c¼éVïD? 

A) z¼áVö[  B) Ä_Ãì  C) ÃV>«ÄD  D) Øk^¹ 

36. Match the following      a b c d 

a. ��	
�	  - 1. Sucrose    A) 2 4 3 1 

b. 	���
   - 2. Glucose    B) 1 3 2 4 

c. ���	����� - 3. Sulphuric acid   C) 4 3 1 2 

d. ��	���� - 4. Ethanol    D) 3 1 4 2 

ØÃVòÝmï.      a b c d 

a. ��	
�	 a 1. ·Â¼«Vü   A) 2 4 3 1 

b. 	���
  - 2. zÓÂ¼ïVü  B) 1 3 2 4 

c. ���	����� - 3. ïÍ>ï ¶téD  C) 4 3 1 2 

d. ��	���� - 4. ¨Ý>ªV_   D) 3 1 4 2 

37. Which of the following is metals?  

A) Iron    B) Oxygen   C) Helium   D) Water 

ÿµÂïõ¦ku¤_ c¼éVïD ¨m? 

A) ÖòDA   B) gÂEÛ[  C) êoBD  D) >õ§ì 



 
 
 

TAF BOOK9s             124                                     Ãz] II - ¼k]lB_ 

38. Which of the following is a short and scientific way of representing one molecule of an element  

or compound? 

A) Mathematical formula     B) Chemical Formula  

C) Mathematical Symbol     D) Chemical symbol  

ÿµÂïõ¦ku¤_ Îò >M\D \u®D ¼Äì\Ý][ JéÂíçÅ ¨Í> s>Ý]_ z¤ÂïéVD? 

A) ïè> kVF©ÃV|    B) ¼k]lB_ kVF©ÃV| 

C) ïè>Â z¤X|    D) ¼k]lB_ z¤X| 

39. An element which is always lustrous, malleable and ductile is 

A) Non-metals   B) Metals   C) Gases   D) Metalloids  

¨©ØÃV¿m¼\ ÃáÃá©ÃVª, kçáBÂí½B, Î¹òD >[ç\¥^á >M\D ¨m? 

A) ¶¼éVïD  B) c¼éVïD  C) kV¥Âï^  D) c¼éVï©¼ÃVoï^ 

40. Assertion: Hot air ballons float in air  

Reason: When air inside the hot air balloon is heated with a burner, it expands. The expansion causes the 

density of the air inside the balloon to decrease. Hence, the air inside the balloon has a lower density 

than the air outside the balloon. This difference in density allows the hot-air balloon to float. 

A) Both ‘A’ and ‘R’ are correct, and ‘R’ explains ‘A’.  

B) Both ‘A’ and ‘R’ are correct, and ‘R’ doesn’t explain ‘A’. 

C) ‘A’ is correct; but ‘R’ is wrong.  D) ‘A’ is wrong; ‘R’ is correct. 

íu® : Øk©ÃÂïVu® W«©Ã©Ãâ¦ ÃÙªVªm ïVu¤_ t>Âþ[Åm. 

ïV«ðD : ÃÙM_ c^á ïVuçÅ Øk©Ã©Ã|ÝmD¼ÃVm ¶m sökç¦þ[Åm. sökç¦>_ 

ïV«ð\Vï ÃÙM_ c^á ïVu¤[ ¶¦ìÝ] zçÅþÅm. ¶>ªV_ ÃÙM_ c^á 

ïVu¤[ ¶¦ìÝ] Øk¹©AÅÝ]_ c^á ïVu¤[ ¶¦ìÝ]çB s¦ zçÅþÅm. ÖÍ> 

¶¦ìÝ] ¼k®ÃVâ½[ ïV«ð\Vï Øk©ÃÂïVu® ÃÙ[ ïVu¤_ t>Âþ[Åm. 

A) íu® (\) ïV«ðD Äö; ¼\KD, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\VzD. 

B) íu® (\) ïV«ðD Äö; gªV_, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\_é. 

C) íu® \â|D Äö, ïV«ðD >k®. 

D) íu® >k®, ïV«ðD \â|D Äö. 

41. Assertion: RO purifiers also have a UV (ultraviolet) unit that destroys the germs present in water. 

Reason: Water is purified by removing contaminants from the water using the reverse osmosis  

method 

A) Assertion and reason are true   B) Assertion and reason are false 

C) Assertion is true and reason is false   D) Assertion is false and reason is true  

íu® : Àö_ c^á \V·Âïçá ÀÂzk>uïVï¡D, Oõ þòtïçá AÅ»>VÂ ï]ìïçáÂ 

ØïVõ| ¶a©Ã>uïVï¡D, kèï Z]BéVª Àì k½Âïâ½ï^ ÃB[Ã|Ý>©Ã|þ[Åª. 

ïV«ðD : ¨]ì Äm«Ã«k_ ¨[Å xçÅl_ Àö_ c^á \V·Âï^ ÀÂï©Ãâ|, Àì 

·Ý]ïöÂï©Ã|þÅm. 

A) íu® (\) ïV«ðD Äö.   B) íu® (\) ïV«ðD >k®. 

C) íu® \â|D Äö, ïV«ðD >k®.  D) íu® >k®, ïV«ðD \â|D Äö. 

42. Which of the following is an example of Oxygen, Hydrogen and Sulphur?  

A) Metals    B) Non-metals  C) Metalloids   D) Noble gases  

gÂEÛ[, çÇâ«Û[ \u®D Ä_Ãì gþBçk ÿµÂïõ¦ku¤_ ¨>uz c>V«ðD? 

A) c¼éVïD     B) ¶¼éVïD 

C) c¼éVï©¼ÃVoï^    D) \Í> kV¥Âï^ 
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43. What are the ingredients that make up the mixture called? 

A) Elements   B) Compounds  C) Metalloids   D) Components 

ïéçkçB còkVÂzD câØÃVò^ï^ ÖËkV® ¶çwÂï©Ã|þÅm? 

A) >M\ºï^  B) ¼Äì\ºï^  C) c¼éVïÂ ïéçkï^ D) ÖçBA© ØÃVòâï^ 

44. Consider the following statements  

1. Two different elements may have similar atoms. 

2. Compounds and elements are pure substances. 

3. Atoms cannot exist alone. They can only exist as groups called molecules 

4. NaCl represents one molecule of sodium chloride. 

A) 1, 2 is false and 3, 4 is true    B) 1 is false and 2, 3, 4 is true  

C) 1, 3 is true and 2, 4 is false    D) 1, 2, 3 is true and 4 is false  

ÿµÂïVbD íu®ïçá g«VFï. 

1. Ö«õ| ¼k®Ãâ¦ >M\ºï¹_ Î¼« s>\Vª ¶bÂï^ ÖòÂzD. 

2. >M\ºï^ \u®D ¼Äì\ºï^ Îò #B ØÃVòáVzD. 

3. ¶bÂï^ >[MßçÄBVï ÖòÂï x½BVm. ¶çk Îò z¿kVï ÖòÂzD ¶>uz 

JéÂí®ï^ ¨[® ØÃBì. 

4. ¼ÄV½BD z¼áVç«½_ Îò ¼ÄV½BD JéÂí® \â|¼\ c^ám. 

A) 1, 2 >k®; 3, 4 Äö    B) 1 >k®; 2, 3, 4 Äö 

C) 1, 3 Äö; 2, 4 >k®    D) 1, 2, 3 Äö; 4 >k® 

45. Which of the following is correct?  

1. Liquids expand more than gases when heated 

2. A compound cannot be broken into simpler substances chemically. 

3. Water has a precise melting point and freezing point. 

4. Buttermilk is an example of heterogeneous mixture. 

A) 1, 2 is true and 3, 4 is false    B) 2, 3 is true and 1, 4 is false  

C) 1, 2 is false and 3, 4 is true    D) 1, 2, 4 is true and 3 is false  

ÿµÂïVõÃªku®^ ÄöBVªm ¨m? 

1. Øk©Ã©Ã|ÝmD¼ÃVm kV¥Âïçá s¦ Àì\D ¶]ï\Vï sökç¦¥D. 

2. ¼k]xçÅl_ Îò ¼Äì\Ýç> ¨¹B ØÃVâïáVï cç¦Âï x½BVm. 

3. Àì m_oB\Vª còz Wçé¥D cçÅ Wçé¥\ ØïVõ|^ám. 

4. ¼\Vì Îò ÃéÃ½Ý>Vª ïéçkÂz ¨|ÝmÂïVâ¦VzD. 

A) 1, 2 Äö; 3, 4 >k®    B) 2, 3 Äö; 1, 4 >k® 

C) 1, 2 >k®; 3, 4 Äö    D) 1, 2, 4 Äö; 3 >k® 

46. 1. Distillation of alcohol can be done by Fractional distillation method  

2. Sand from Naphthalene can be separated from Sublimation method  

3. Fractional distillation is used in Petroleum refinery  

4. The solubility of a solid in water increases as the temperature rises 

Consider the following statements  

A) 1, 2 is true and 3, 4 is false    B) 1, 2, 3, 4 is true  

C) 1, 2 is false and 3, 4 is true    D) 1, 2, 4 is true and 3 is false  

1. ÀöoòÍm g_ïÇV_ ïVFßE k½Ý>_ xçÅ JéD ¸öÝØ>|Âï©Ã|þÅm. 

2. åV©>ÜMoòÍm \ð_ Ã>ºï\V>_ xçÅ JéD ÀÂï©Ã|þÅm. 

3. ØÃâ¼«VoB ·Ý]ïö©¸_ ÃB[Ã|Ý>©Ã|D ¸öÝØ>|Ý>_ xçÅ ¸[ªÂïVFßE k½Ý>_. 

4. Øk©ÃWçé cBòD ¼ÃVm Àö_ ]õ\Ý][ ïç«]Å[ ¶]ïöÂzD. 

¼\uïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3, 4 >k®    B) 1, 2, 3, 4 Äö 

C) 1, 2 >k®; 3, 4 Äö    D) 1, 2, 4 Äö; 3 >k® 
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1. An example of Tap root system was  

A) Paddy    B) Grass   C) Maize   D) Bean  

gè¼kì Ø>Vz©¸uz ¨|ÝmÂïVâ|? 

A) Øå_   B) A_   C) \ÂïVß¼ÄVáD D) ¶kç« 

2. Which of the following is the function of root? 

1. Fixes the plant to the soil. 

2. Absorbs water and minerals from the soil.  

3. Some plants like carrot and beet root store food in root. 

A) 1, 2, 3 only   B) 1, 2 only   C) 1 only   D) 2 only  

ÿµÂïõ¦ku®^ ¨çk ¼kö[ Ãèï^? 

1. >Vk«Ýç> ¯tl_ WçéW®Ýmþ[Åª. 

2. \õèoòÍm Àç«¥D, ïM\ ÄÝmÂïçá¥D c¤Þ·þ[Åª. 

3. ¼ï«â, ¬âÔâ ¼ÃV[Å >Vk«ºï^ >Vºï^ >BVöÝ> cðçk >ºï¹[ ¼kìï¹_ ¼ÄtÂþ[Åª. 

A) 1, 2, 3 \â|D  B) 1, 2 \â|D  C) 1 \â|D  D) 2 \â|D 

3. The important function of stomata is ________. 

A) Conduction   B) Transpiration  C) Photosynthesis  D) Absorption 

ÖçéÝ mçál[ xÂþB ¼kçé ________. 

A) Àç«Â ï¦Ým>_ B) À«Vs©¼ÃVÂz C) Î¹ß¼ÄìÂçï D) c¤Þ·>_ 

4. Choose the correct statement  

A) Plants have three parts: the root, the stem and leaves.  

B) Mountain is an example for freshwater habitat.  

C) Root is modified into spines.  

D) Green plants need sunlight. 

ÄöBVªç>Ý ¼>ìï. 

A) >Vk«ºï¹[ J[® ÃVïºï^ a ¼kì, >õ|, Öçéï^. 

B) \çéï^ å[Ìì kVa¦Ý]uz {ì c>V«ðD. 

C) ¼kì xâïáVï \Vu®ò ¶ç¦Ím^ám. 

D) Ã·Í>Vk«ºïÓÂz óöB Î¹ ¼>çk. 

5. Which of the following are the characteristics of living beings?  

1. Respiration   2. Reproduction  3. Adaptation   4. Excretion 

A) 1, 2, 4 only   B) 1, 2 only   C) 2, 4 only   D) All the above  

ÿµÂïõ¦kuÅ^ ¨m clöªºï¹_ ïVð©Ã|D ÃõA gzD. 

1. ·kVEÝ>_  2. Öª©ØÃòÂïD 3. >ïkç\Ý>_ 4. ïa¡ÀÂïD ØÄF>_ 

A) 1, 2, 4 \â|D  B) 1, 2 \â|D  C) 2, 4 \â|D  D) ¶çªÝmD 

¶[ÅV¦ kVµs_ >Vk«ºï^ (\) séºzï^ (6, 7 a gD kz©A) ¼>ì¡ a 18 
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6. Which animal has the special organs of breathing called gills?  

A) Earthworm  B) Frog   C) Fish   C) Fox  

¨Í> séºþuz ØÄ¡^ï^ ¨[Å EÅ©A c®©A ·kVE©Ã>uz© ÃB[Ã|þÅm? 

A) \õA¿  B) >kçá  C) *[   D) åö 

7. Choose the set that represents only biotic components of a habitat.  

A) Tiger, Deer, Grass, Soil    B) Rocks, Soil, Plants, Air  

C) Sand, Turtle, Crab, Rocks    D) Aquatic plant, Fish, Frog, Insects 

ÿµÂïõ¦ku®^ ¨çk óµWçé \õ¦éÝ][ clì ïV«èï^ gzD. 

A) Ao, \V[, A_, \õ    B) ÃVçÅï^, \õ, >Vk«ºï^, ïVu® 

C) \ð_, gç\, åõ|, ÃVçÅï^  D) Àì>Vk«D, *[, >kçá, ¯ßEï^ 

8. Paramecium moves from one place to other with the help of ________. 

A) Pseudopodia   B) Flagella   C) Foot   D) Cilia 

ÃV«*EBD Îò Ö¦Ý]oòÍm \uØÅVò Ö¦Ý]uz Ö¦D ØÃBìk>uz ÃB[Ã|ÝmD c®©A 

A) ¼ÃVoÂïV_ï^ B) z® Öçwï^ C) ïV_ï^  D) EoBV 

9. Match the following        a b c d e 

a. Mountain  - 1. Monocot     A) 2 4 3 5 1 

b. Desert   - 2. Branches     B) 3 2 5 4 1 

c. Stem   - 3. Dry place     C) 4 3 2 5 1 

d. Photosynthesis  - 4. Himalayas    D) 2 4 5 1 3 

e. Fibrous root  - 5. Leaves 

ØÃVòÝmï.        a b c d e 

a. \çéï^  a 1. Îò sÝ]çéÝ >Vk«ºï^ A) 2 4 3 5 1 

b. ÃVçékªD  a 2. þçáï^    B) 3 2 5 4 1 

c. >õ|   a 3. kÅõ¦ Ö¦ºï^   C) 4 3 2 5 1 

d. Î¹ß¼ÄìÂçï  a 4. Ö\B\çé   D) 2 4 5 1 3 

e. Ä_o¼kìÝ Ø>Vz©A a 5. Öçéï^ 

10. Which of the following is not a root? 

A) Potato    B) Carrot   C) Radish   D) Turnip 

¸[kòkªku®^ ¨m ¼kì ¶_é? 

A) còçáÂþwºz B) ¼ï«â  C) x^áºþ  D) ¦ìM© 

11. Consider the following statements  

1. Cotton is an example of textile fiber. 

2. Palm tree is the state tree of Tamil Nadu  

3. The juice of the Tulsi leaves of plant relieves cough and bronchitis. 

A) 1, 2 is true and 3, 4 is false    B) 2 is true and 1, 3, 4 is false  

C) 2, 4 is true and 1, 3 is false    D) 1, 2, 3, 4 is true  

ÿµÂïVbD íu®ïçá g«VFï. 

1. ÃòÝ] ØåÄ¡ åVòÂz ¨|ÝmÂïVâ¦VzD. 

2. >tµåVâ½[ \VWé \«D Ãçª\«D. 

3. máE Öçél[ ÄV® Öò\çé¥D \VìAß Ä¹çB¥D zð\VÂzþÅm. 

A) 1, 2 Äö; 3 >k®    B) 2 Äö; 1, 3 >k®  

C) 2 Äö; 1, 3 >k®    D) 1, 2 (\) 3 Äö 
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12. Which of the following statement is correct? 

A) Plants grown for decorative purposes are called as softwood.  

B) Silkworm eats mulberry leaves.  

C) Cauliflower is used for ornamental purpose. 

D) Cotton cloth is not suitable for summer season. 

ÿµÂïVõÃªku®^ ÄöBVªm ¨m? 

A) ¶wþuïVï káìÂï©Ã|D >Vk«ºï^ Ø\[ ïâç¦ï^ ¨ª ¶çwÂï©Ã|þ[Åª. 

B) Ãâ|©A¿Âï^ \_ØÃö ÖçéçB cðkVï câØïV^þ[Åª. 

C) ¶éºïV« >Vk«\Vï ïVo¸ákì >Vk«D ÃB[Ã|þÅm. 

D) ¼ïVç¦ ïVéÝ]uz ÃòÝ] cç¦ï^ °uÅ>[® 

13. Match the following       a b c d e 

a. Fibre yielding plant - 1. Chloramine   A) 3 5 1 2 4 

b. Hardwood  - 2. Spice   B) 2 3 5 1 4 

c. Neem   - 3. Hemp    C) 3 1 5 4 2 

d. Clove   - 4. Cereals    D) 4 2 3 5 1 

e. Millet   - 5. Teakwood 

ØÃVòÝmï.       a b c d e 

a. åVì>òD >Vk«D a 1. þòt åVEM  A) 3 5 1 2 4 

b. k[ïâç¦  a 2. å®\ð© ØÃVò^  B) 2 3 5 1 4 

c. ¼kDA   a 3. Äð_   C) 3 1 5 4 2 

d. °éÂïVF  a 4. >VMBD   D) 4 2 3 5 1 

e. ïDA   a 5. ¼>Âz 

14. ________ is the daily essential product which is obtained from cattle.  

A) Egg    B) Milk   C) Both of them  D) None of them 

________ ]ªÄö, ïV_åç¦ï¹oòÍm å\ÂzÂ þç¦ÂzD xÂþB\Vª ØÃVòáVzD. 

A) xâç¦   B) ÃV_  C) A&B  D) ¨m¡t_çé 

15. Sorter’s Disease is otherwise known as  

A) Asthma   B) Anthrax   C) Typhoid   D) Cholera 

¸öÝØ>|©Ãkö[ ¼åVF ¨[ÅçwÂï©Ã|km ________. 

A) güm\V  B) gÍ]«VÂü C) ç¦àÃVF|  D) ïVé«V 

16. Consider the following statements  

1. Animals are the greatest gift of nature.  

2. Horse hair is used as bristles in small painting brushes.  

3. Wool is the fiber derived from the silk worm.  

4. Ahimsa silk is otherwise known as Mulberry silk. 

A) 2, 4 is true and 1, 3 is false    B) All are true  

C) 1, 2 is true and 3, 4 is false   D) 3 is true and 1, 2, 4 is false  

íu®ïçá g«VFï. 

1. ÖBuçïl[ tï© ØÃöB ØïVç¦ séºzï^. 

2. z]ç«l[ c¼«V\D {sBD yâ|D #öçïï¹_ ÃB[Ã|Ý>©Ã|þÅm. 

3. Ãâ|©¯ßE ïDÃ¹ ÖçwïçáÝ >òþÅm. 

4. ¶NDçÄ© Ãâ½[ \®ØÃBì \_ØÃö Ãâ|. 

A) 2, 4 Äö; 1, 3 >k® B) ¶çªÝmD Äö C) 1, 2 Äö; 3, 4 >k® D) 3 Äö; 1, 2, 4 >k® 



 
 
 

TAF BOOK9s            196                                    Ãz] III - clöB_ 

17. Eggs are rich in 

A) Protein   B) Acid   C) Fats   D) Carbohydrate  

xâç¦l_ ________ ¶]ïD c^ám. 

A) A«>D   B) ¶téD  C) ØïV¿©A  D) ïVì¼ÃVçÇâ¼«â 

18. The cultivation and production of silk is known as  

A) Horticulture   B) Floriculture  C) Agriculture  D) Sericulture 

Ãâ|© ¯ßEïçá káì©ÃmD, Ãâ| Öçwïçá còkVÂzkmD ÖËkV® ¶çwÂï©Ã|þÅm. 

A) ÇVìâ½ï_Äì  B) àA¼áVöï_Äì C) ¶Âöï_Äì  D) ØÄöï_Äì 

19. Birds fly in the air with the help of  

A) Heavy and strong bones    B) Soft and thick bones  

C) Hollow and light bones   D) Flat and thick bones 

ÃÅçkï^ ïVu¤_ ÃÅ©Ã>uzÂ ÿµÂïõ¦ ¨m c>sBVï c^ám? 

A) ïª\Vª \u®D c®]BVª ¨KDAï^. 

B) Ø\[ç\BVª \u®D ¶¦ìÝ]BVª ¨KDAï^. 

C) c^C¦uÅ \u®D ÖézkVª ¨KDAï^. 

D) >âç¦BVª \u®D ¶¦ìÝ]BVª ¨KDAï^. 

20. Match the following       a b c d e 

a. Cocoons   - 1. Meat    A) 1 2 5 4 3 

b. Peace silk  - 2. Poultry    B) 4 5 1 2 3 

c. Broilers   - 3. Silk worm   C) 3 2 5 4 1 

d. Sweet Liquid  - 4. Andhra Pradesh  D) 3 4 2 5 1 

e. Goat   - 5. Honey 

ØÃVòÝmï.       a b c d e 

a. íâ|©A¿  a 1. ÖçÅßE   A) 1 2 5 4 3 

b. ¶ç\]© Ãâ|  a 2. ¼ïVa©Ãõçð  B) 4 5 1 2 3 

c. ¸«VFéì  a 3. Ãâ|©¯ßE   C) 3 2 5 4 1 

d. ÖM©ÃVª ]«kD a 4. gÍ]«© ¸«¼>ÄD  D) 3 4 2 5 1 

e. g|   a 5. ¼>[ 

21. Consider the following statements  

1. Protein and Calcium is rich in Milk. 

2. Bee is extracted from bee hives. 

3. Silk is the strongest natural fiber. 

A) All are true      B) 1, 2 is true and 3 is false  

C) 3 is true and 1, 2 is false    D) 2, 4 is true and 1 is false  

íu®ïçá g«VFï. 

1. A«>D \u®D ïV_EBD ÃVo_ ¶]ïD c^ám. 

2. ¼>[ íâ½oòÍm ¼>[ ¨|Âï©Ã|þÅm. 

3. ÖBuçï Öçwï¹¼é¼B koç\BVª Öçw Ãâ|. 

A) ¶çªÝmD Äö B) 1, 2 Äö; 3 >k® C) 3 Äö; 1, 2 >k® D) 2 Äö; 1, 3 >k® 

22. The Stalk region which connects Stem and leaf is called  

A) Petiole    B) Leaf Lamina  C) Leaf blade   D) Leaf base  

>õ| \u®D ÖçéçB ÖçðÂzD ïVDA© Ãz] ________ ¨ª©Ã|D. 

A) ÖçéÂ ïVDA  B) ÖçéÝ>V^ C) Öçé©Ã«©A D) ÖçéB½© Ãz] 



 
 
 

TAF BOOK9s            197                                    Ãz] III - clöB_ 

23. ________ is essential for all organisms. 

A) Food & Water  B) Water only   C) Food only  D) Air, Food & Water 

¶çªÝm clöªºïÓÂzD ¼>çkBVªm? 

A) cð¡ (\) Àì  B) Àì \â|D  C) cð¡ \â|D D) ïVu®, cð¡ (\) Àì 

24. Statement 1: The portion of the leaf connected in the nodal region of the stem is known as the leaf base. 

Statement 2: On the lower side of the leaf there are tiny pores or openings known as stomata. 

A) Statement 1, 2 is true     B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

íu® 1 : >õ| ¶_ém þçá¥¦[ ÖçðÂï©Ãâ|^á Öçél[ Ãz] ÖçéB½©Ãz] ¨ª©Ã|D. 

íu® 2 : Öçél[ ¶½©Ãz]l_ OõèB mçáï^ ïVð©Ã|þ[Åª. Öçk ÖçéÝmçáï^ 

¨ª©Ã|D. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

25. ________ are obtained from angiosperms (flowering plants), the largest group of land plants. 

A) Hardwoods      B) Softwoods    

C) Wood       D) Ornamental Plants  

WékV_ ¯ÂzD >Vk«ºïáVª gÞE¼BVüØÃìD ¨[ÐD tï©ØÃòD ¸ösçªß ÄVìÍ> 

>Vk«ºï¹oòÍm ________ ØÃÅ©Ã|þ[Åª. 

A) k[ïâç¦ï^     B) Ø\[ïâç¦ï^  

C) \«Âïâç¦ï^     D) ¶éºïV« >Vk«ºï^ 

26. Which of the following are functions of the leaf? 

1. It prepares food by photosynthesis 

2. They help in respiration. 

3. Transports the prepared food from leaves to other parts through stem. 

A) 1 only    B) 2 only   C) 1, 2 only   D) All the above  

ÿµÂïõ¦ku®^ ¨çk Öçé©Ãèï^ gzD? 

1. Î¹ß¼ÄìÂçïl[ JéD cðçk >BVöÂþÅm. 

2. ·kVEÝ>KÂz c>¡þÅm. 

3. ÖçélªV_ >BVöÂï©Ãâ¦ cð¡ >õ½[ kaBVï >Vk«Ý][ ¸Å ÃVïºïÓÂz 

ï¦Ý>©Ã|þÅm. 

A) 1 \â|D  B) 2 \â|D  C) 1, 2 \â|D  D) ¶çªÝmD 

27. 1. Angiosperms    - Open Seeded Plants  

2. Gymnosperms   - Closed seeded Plants  

3. Mango    - Open seeded Plants  

4. Cycas     - Closed seeded Plants 

Choose the incorrect Pair  

A) 1 only false   B) 2, 3 only   C) 1, 4 only   D) All the above  

1. gÞE¼BVüØÃìDï^  a ]ÅÍ> sç>Ý >Vk«ºï^. 

2. ÷D¼ªVüØÃìDï^  a J½B sç>Ý >Vk«D 

3. \V    a ]ÅÍ>sç>Ý >Vk«D. 

4. çÄÂïü   a J½B sç>Ý >Vk«D. 

>kÅVª ÖçðçBÂ ïVõï. 

A) 1 \â|D >k®  B) 2, 3 \â|D  C) 1, 4 \â|D  D) ¶çªÝmD 



 
 
 

TAF BOOK9s            198                                    Ãz] III - clöB_ 

28. 1. Nile is the longest river in the world 

2. The Longest River in India is Ganges 

Choose the correct statement  

A) 1 only    B) 2 only   C) 1 and 2 are true  D) None of the above  

1. céþ[ tï Àá\Vª å] çå_ å]. 

2. ÖÍ]BVs[ tï Àá\Vª å] ïºçï å]. 

ÄöBVª íu®ïçáÂ ïVõï. 

A) 1 \â|D  B) 2 \â|D  C) 1 (\) 2 Äö  D) ¨m¡t_çé 

29. Every year World habitat day is observed on 1st Monday of which month? 

A) October   B) November   C) March   D) April  

ÎËØkVò gõ|D ¨Í> \V>D x>_ ]ºïâþwç\ céï kVa¦ åVáVï ¶ÐÄöÂï©Ã|þÅm? 

A) ¶Â¼¦VÃì  B) åkDÃì  C) \Vìß  D) °©«_ 

30. Which of the following is correct about unicellular organisms? 

A) Generally, it is larger in Size  

B) It can be seen through the eyes  

C) They are composed of tissues, organs and organ systems. 

D) Growth occurs by an increase in the size of the cells 

Îò ØÄ_ clö Ãu¤B íu®ï¹_ ÄöBVªm ¨m? 

A) ØÃVmkVï Öçk ¶ás_ ØÃöBçk. 

B) ïõïáV_ ÃVìÂï ÖBKD. 

C) Öku¤_ ]·Âï^, c®©Aï^ (\) c®©A \õ¦éºï^ c^áª. 

D) ØÄ_ï¹[ ¶á¡ ¶]ïö©Ã>[ JéD káìßE åç¦ØÃ®þÅm. 

31. 1. Amoeba is a unicellular organism. 

2. Amoeba does all the activities like digestion, locomotion, respiration and reproduction within the same  

      cell. 

3. Amoeba swallows’ food from the water 

4. Contractile vacuoles help in excretion in Amoeba  

Consider the following statements  

A) 2, 4 is true and 1, 3 is false    B) All are true  

C) 3 is true and 1, 2, 4 is false    D) 1, 2 is true and 3, 4 is false  

1. ¶*ÃV {ì Îò ØÄ_ clö. 

2. ¶*ÃVs_ cð¡ ØÄöÝ>_, Ö¦©ØÃBìßE, ·kVEÝ>_ \u®D Öª©ØÃòÂïD gþB ¶çªÝm 

ØÄFéÃV|ïÓD Î¼« ØÄ_ouz^ ØÄB_Ã|þ[Åª. 

3. ¶*ÃV Àö_ c^á cð¡Ýmï^ïçá s¿ºzþ[Åª. 

4. ¶*ÃVs_ ·òºzD Oõ ztµï^ JéD ïa¡ÀÂïD åç¦ØÃ®þÅm. 

íu®ïçá g«VFï. 

A) 2, 4 Äö; 1, 3 >k®    B) ¶çªÝmD Äö 

C) 3 Äö; 1, 2, 4 >k®    D) 1, 2 Äö; 3, 4 >k® 

32. Through which of the following Amoeba moves? 

A) Cilia    B) False foot  C) Pseudopodia  D) Contractile vacuole 

¶*ÃV ¨>[ JéD Ö¦©ØÃBìßE ØÄFþÅm? 

A) z®Öçw  B) ¼ÃVoÂïV_ï^ C) ïçÄlçw  D) ·òºzD Oõ ztµ 
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33. Which of the following is not Multicellular organisms? 

A) Snail    B) Frog   C) Pigeon   D) Euglena  

ÿµÂïõ¦ku®^ ¨çk ÃéØÄ_ clö ¶_é. 

A) åÝç>   B) >kçá  C) AÅV   D) RÂ¹ªV 

34. Assertion: Birds change their location as the season changes. It is called migration 

Reason: In Tamil Nadu bird sanctuaries are located at Vedanthangal, Kodiyakkarai and  

Koondhankulam 

A) Assertion and reason are true   

B) Assertion and reason are false  

C) Assertion is true and reason is false    

D) Assertion is false and reason is true  

íu® : Ãòk \V®Ãâ½[ ïV«ð\Vï ÃÅçkï^ Îö¦Ý]oòÍm ¼kØÅVò Ö¦Ý]uz ØÄ_km 

kéçÄ ¼ÃV>_ ¨ª©Ã|D. 

ïV«ðD : >tµåVâ½_ ¼k¦Í>Vºï_, ¼ïV½BÂïç«, íÍ>[záD gþB Ö¦ºï¹_ ÃÅçkï^ 

Ä«ðVéBºï^ ïVð©Ã|þ[Åª. 

A) íu® (\) ïV«ðD Äö.    

B) íu® (\) ïV«ðD >k®. 

C) íu® \â|D Äö, ïV«ðD >k®.   

D) íu® >k®, ïV«ðD \â|D Äö. 

35. The Study of Organisms is called  

A) Psychology   B) Biology   C) Zoology   D) Botany  

clöªºïçá© Ãu¤ Ã½ÂzD ¶¤sB_ ¸ö¡ ________. 

A) cásB_  B) clöB_  C) séºþB_  D) >Vk«sB_ 

36. Lizards breathe through their ________. 

A) Skin    B) Gills   C) Lungs   D) Trachea 

Ã_oï¹[ ·kVÄ c®©A? 

A) ¼>V_   B) ØÄ¡^ï^  C) Oç«X«_  D) Jß·Âzw_ 

37. Match the following      a b c d 

a. Leaf   - 1. Curry leaves   A) 2 3 4 1 

b. Stem   - 2. Elephant Yam   B) 1 2 3 4 

c. Flower   - 3. Cauliflower   C) 2 4 3 1 

d. Fruit   - 4. Guava    D) 4 3 1 2 

ØÃVòÝmï.      a b c d 

a. Öçé  a 1. ï¤¼k©¸çá  A) 2 3 4 1 

b. >õ|  a 2. ïòçðÂþwºz  B) 1 2 3 4 

c. \éì  a 3. ïVoà¸ákì  C) 2 4 3 1 

d. ïM  a 4. ØïVFBV   D) 4 3 1 2 

38. When did World food day was observed? 

A) September 16      B) October 17    

C) August 18      D) October 16  

céï cð¡ ]ªD ¨©¼ÃVm ¶ÐÄöÂï©Ã|þÅm? 

A) ØÄ©¦DÃì 16     B) ¶Â¼¦VÃì 17  

C) gïüâ 18     D) ¶Â¼¦VÃì 16 
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39. Choose the incorrect Pair  

A) Tulsi   - Cure Cough and Cold  

B) Aloe Vera   - Wound healing  

C) Amla    - Improve Immunity  

D) Neem    - To prevent infection of minor wounds 

>kÅVª ÖçðçBÂ ïVõï. 

A) máE   a Öò\_, \VìA ÄoçB zð©Ã|Ý>. 

B) ¼ÄVu®ÂïuÅVçw a ïVF>ç>Â zð©Ã|Ý>. 

C) Øå_o   a ¼åVØB]ì©A ÄÂ]çB ¼\DÃ|Ý>. 

D) ¼kDA   a E¤B ïVBDÃâ¦ Ö¦ºï¹_ Ø>Vu® °uÃ¦V\_ ÖòÂï. 

40. Match the following         a b c 

a. Salmonellosis    - 1. Diarrhea    A) 1 2 3 

b. Ranikhat disease  - 2. Fowl pox    B) 3 1 2 

c. Aspergilleses   - 3. Weakness and emaciation  C) 2 3 1 

          D) 3 2 1 

ØÃVòÝmï.         a b c 

a. ÄV_¼\VØª_¼éVEü  a 1. klu®©¼ÃVÂz   A) 1 2 3 

b. «VèÂØïâ ¼åVF  a 2. ¶Dç\ ¼åVF   B) 3 1 2 

c. ¶üØÃì÷_éü ¼åVF a 3. ÃéTªD, åoÍm ¼ÃV>_ C) 2 3 1 

          D) 3 2 1 

41. Which of the following to cure Vitamin C deficiency? 

A) Amla   B) Tulasi  C) Turmeric   D) Aloe 

¸[kòkªku®^ ¨m çkâ¦t[ C zçÅÃVâç¦© ¼ÃVÂzþÅm. 

A) Øå_o   B) máE  C) \ÞÄ^  D) ¼ÄVu®Â ïuÅVçw 

42. Which of the following diseases caused by the Bacteria Bacillus Anthracis? 

A) Anthrax   B) Typhoid   C) Tuberculosis  D) Asthma  

¼ÃE_éü gÍ>«VEü ¨[Å ÃVÂÏöBVkV_ °uÃ|D ¼åVF ¨m? 

A) gÍ>«VÂü  B) ç¦ÃàVF|  C) ïVÄ¼åVF  D) güm\V 

43. Assertion: India is the world’s second largest silk producing country. 

Reason: Kancheepuram, Thirubhuvanam and Arani are famous places for silk production in Tamil  

Nadu. 

A) Assertion and reason are true   

B) Assertion and reason are false  

C) Assertion is true and reason is false    

D) Assertion is false and reason is true  

íu® : Ãâ| cuÃÝ]l_ céþ¼é¼B Ö«õ¦Vkm Ö¦Ýç>© ØÃ®km åD ÖÍ]B åV|. 

ïV«ðD : >tµåVâ½K^á ïVÞEA«D, ]òAkðD \u®D g«è ¼ÃV[Å Ö¦ºï^ Ãâ| 

cuÃÝ]ÂzD AïµØÃuÅçk. 

A) íu® (\) ïV«ðD Äö.    

B) íu® (\) ïV«ðD >k®. 

C) íu® \â|D Äö, ïV«ðD >k®.   

D) íu® >k®, ïV«ðD \â|D Äö. 

 


